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@ V21+3< V19-4
© V19- V5> VI5 - V7
©® VI5+3> V15+2

@o @ © ® 6.0
® 0© ® .00
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@ V21+3-(V19-4) = V21 - VI9+7>0
V21 43> V19-4
© (V19— V5) = (V15 - V7)
= (V19— V15) 4+ (V7 - v5) > 0
5 V19— V5> V15— V7
©® (VI5+3) - (V15+2)=3-2>0
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@ x2-2x=0

(@)(x—i—2)2 =0

@ (x-2)2=0

0

® (x-2)(x-5)

® (x-1)%=4

‘ (-2+2°=0




3. (x-2y)(x-2y-3)-10& A5HElotH
(x=2y+m)(x=2y+n) &, mn ] 27

@-0 o3 ® 10 @ 2

B

x—2y =tz 54,
((t-3)-10=r-3r-10
=(-5)(r+2)
=(x—2y-5)(x-2y+2)
om=-5n=2

Somn = —10
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(x+y)(x+y-1) =20 & vr=A] st A7

@<x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-—4) @ (x-y-4)(x—y+5)

® (x-y=-5)(x-y+4)
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x+y=A @1 514

(x+y)(x+y-1)-20=A(A-1)-20
=A2-A-20
=(A-5)(A+4)
=(x+y-5)(x+y+4)




